

Ex  $y'' + y = 0$

$$y(x) = \sum_{n=0}^{\infty} a_n x^n$$

$$y''(x) = \sum_{n=2}^{\infty} n(n-1)a_n x^{n-2}$$

$\underbrace{\hspace{10em}}$   
 $n+2 \rightarrow n$

$$y'' + y = \sum_{n=0}^{\infty} (n+2)(n+1)a_{n+2} x^n + \sum_{n=0}^{\infty} a_n x^n = 0$$

$$\Rightarrow (n+2)(n+1)a_{n+2} + a_n = 0$$

$$a_{n+2} = -\frac{1}{(n+2)(n+1)} a_n$$

Even indices...

$$a_2 = -\frac{1}{2} a_0$$

$$a_4 = -\frac{1}{4 \cdot 3} \cdot \left(-\frac{1}{2} a_0\right)$$

$$a_6 = -\frac{1}{6 \cdot 5} \cdot \left(\frac{1}{4 \cdot 3 \cdot 2} a_0\right)$$

$$\vdots$$

$$a_{2n} = \frac{(-1)^n}{(2n)!} a_0; n=1,2,3,\dots$$

Odd indices...

$$a_{2n+1} = \frac{(-1)^n}{(2n+1)!} a_1; n=1,2,3,\dots$$

Let  $a_0$  &  $a_1$  be our two constants of integration.

$$y(x) = \sum_{n=0}^{\infty} a_0 \frac{(-1)^n}{(2n)!} x^{2n} + \sum_{n=0}^{\infty} a_1 \frac{(-1)^n}{(2n+1)!} x^{2n+1}$$

$$\Rightarrow y(x) = a_0 \cos x + a_1 \sin x$$